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which code snippet creates a handle instance?

Option A
Option B
Option C
Option D

oo W

Correct Answer: B

QUESTION 15
Refer to the exhibit. Which python data structure does my_josn contain?
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List
Json
Map
Dict

A
B.
C.
D.

Correct Answer: D

QUESTION 16
Refer to the exhibit. Which two statement describe the configuration of the Ansible script is run?
(Choose two.)
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Traffic on port 0/2 and 0/3 is connected to port 0/6.

Traffic from ports 0/2 to 0/5 can flow on port 0/1 due to the trunk.

Traffic can flow between ports 0/2 to 0/5 due to the trunk on port 0/1.
GigabitEthernet0/2 and GigabitEthernet0/3 are access ports for VLAN 6.
GiabitEthernet0/1 is left unconfigured.
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Correct Answer: BD

QUESTION 17
Which action does the Git command git merge allow the development to perform?

A. Combine multiple sequence of commits into one unified history.
B. Push changes to the remote repository

C. Switch between branches

D. Create, list, rename, and delete branches

Correct Answer: A

QUESTION 18
In python, which expression checks whether the script returns a success status code when the
Requests library is used?

A. response.status_code == requests.ok

B. respons.status_code == requests.codes.ok
C. response.code == requests.codes.ok

D. response.status_code ! == requests.codes.ok

Correct Answer: B

QUESTION 19
What are two advantages of the Model-view-controller software design pattern? (Choose two.)

simplifies network automation

allows for multiple views of the same model

makes code easier to deploy using CI/CD pipelines

reduces need for error handling

separates responsibilities of the code, which makes future modifications easier

moow»

Correct Answer: BE

QUESTION 20
An automation script fails to connect to an internal server exactly 1 out of 2 times it is executed.
This behavior is seen from different clients. Which networking device mut be at fault?

A. Laptop on which the scripted is running
B. Router

C. Switch

D. Load balancer

Correct Answer: D

QUESTION 21

DRAG DROP

Drag and drop the network component names from the left onto the correct descriptions on the
right. Not all options are used.
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Correct Answer:

QUESTION 22
Fill in the blanks to complete the statement.

Given a username of "devnet" And a password "Cisco123", applications must create a base64
encoding of the string" " when sanding HTTP requests to an API that uses
authentication.

Correct Answer: devnet:Cisco123, Basic

Explanation:
Solution as below:
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QUESTION 23
On which network plane is routing protocol traffic handled?

A. data plane

B. management plane
C. authentication plane
D. control plane

Correct Answer: D

QUESTION 24
Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the
HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the
HTTP header for authentication.

C. UCS manager API interactions are XML-encoded and require a cookie in the method for
authentication.

D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for
authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in
the HTTP header for authentication.

Correct Answer: BC

QUESTION 25
Drag and drop the Docker file instructions from the onto correct descriptions on the right. Not all
options are used.
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Correct Answer:
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